REV DESCRIPTION DATE ECN # APPR
A INITIAL RELEASE 00-XXX=19 | XXXXX IMM
B ENCORE SASH UPDATE 7110124 - JD
(23 -
= Ms :
= = o F
=
) .
7.0
: ®
~———(|9.3) ———
B 08.2 -
UNLESS OTHERWISE SPECIFIED: DRAWN BY: PART
THIS DOCUMENT CONTAINS ALL DIMENSIONS IN INCHES M o P Ec e A SALAME wew  AXI24R-072-B
PROPRIETARY INFORMATION OF TOLERANCES g 0l in 7110/2024
MOPEC, AND MAY NOT BE COPIED IN WHOLE 000 2005 G ROUP CHECKED B, DESCRIPTION H
OR PART, AND NO USE SHALL BE MADE OF : =0010/n ; - -
IT OTHER THAN FOR WHICH IT HAS BEEN 00000 = 0.0010 in e .'_["F_ Inpec nMO ,,FE",'EPC,,'L! PATE 2 10/2024 | e REY
SUBMITTED WITHOUT THE WRITTEN ANCLES -~ =0.5 SIZE we AX124R-072-B.dft
PERMISSION OF A MOPEC. MANAGER BREAK ALL CORNERS 0.063 X 45° AN TO APPROVED BY
ALL FILLET RADI R0.063 /0.125in oate. MMCCLAIN SCALE. DO NOT SCALE
INSPECT OVAL DIMENSIONS 3RD ANGLE E_ @ .
MOPEC 2024 POUECTION 7/10/2024 | 8 IF IN DOUBT ASK SHEET | OF 2

*AX124R-072-B.dft*



3 4 9 NV, 0 3 9 10 |
REV DESCRIPTION DATE ECN # APPR
A INITIAL RELEASE 00-XXX-19 | XXXXX |[MM
B ENCORE SASH UPDATE 7110124 - JD
A
B
C
D
E
F
ltem Quantity File Name Title Material Revision
Number
I* 6 PBOOO7 par NUT - SS, 8-32, NYLON LOCK McMASTER-CARR #
91831A009
2 6 PBO024.par SCREW - SS, 8-32 x 3/4"L, TRUSS PHILLIPS McMASTER-CARR #
91770A197 G
3 6 PBOO39.par SCREW - SS, 8-32 x 1/2"L, TRUSS PHILLIPS McMASTER-CARR #
91770AI94
4 13 PBO338par #8-32 INSERT SPIN TITE Stainless steel A
) 2 PM0O820.par A
6 I S7785.asm LEFT HAND SASH COVER A
7 I S7791-Aasm RIGHT HAND SASH SINK COVER A
. — DRAWN BY:
8 | S7797-072-Apsm 3/8" PLEXIGLASS COVER FOR 72" UNITS RM0689, SHT, A 15 DOCUMENT CONTAS o oo e M o PEC A SALAME m . AXI24R-072-B
POLYCARBONATE, 3/8" X PROPRIETARY INFORMATION OF TOLERANCES 00 + 0.1 in . 7/' 0/2024
48" X 96", CLEAR MOPEC, AND MAY NOT BE COPIED IN WHOLE 200 o SR OOk CHECKED BY: DESCRIPTION H
OR PART, AND NO USE SHALL BE MADE OF : £oa1 N = -
o 2 S7798-Apsm SHT, SS, 16 GA, 304 A T OTHER THAN FOR WHCH T His BEEN L oo cVopec BMORTECH | b= 2, 5, - A2 1 AX|24R-072-Bdift REB
10 I S7799-072-Apsm 72" Shelve Stiffener SHT, SS, 16 GA, 304 A PERMISSION OF A MOPEC. MANAGER iEEAFKﬁLELT %23%%%%3?8 |ng'5° DRAWN TO APPROKAE[;\,TY:CLA|N SCALE
. 125in B DATE: M.MC : DO NOT SCALE
1 | S7800-072-Apsm MB, SASH SHELF 72" 16 GA. TYPE T304 SS A MOPEC 2024 INSPECT OVAL DIMENSIONS Ko @ 711012024 |-4 IF IN DOUBT ASK SHEET 2 OF 2
| 3 4 | 8 | 9 | 0 I

*AX124R-072-B.dft*



